MERCEDES

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




MERCEDES

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




—
sy L and

100

W631

MB-20546

FO-12852

MERCEDES

1988-1996

—— Salincak Burcu Rotbasi
Onig On Sol Dis
6313300075 ~ M20x1.5Lht
6163544
FO-12851
Rotbasi
On Sag
M20x1,5Rht
6313380510
190 W201 1982-1993
MB-20331 MB-20543
Salincak Burcu Salincak Burcu —
Arka On Dis
2013523665 1243333714
MB-20567 MB-17111
Salincak Burcu Ara Rot
Arka OnDis
1243523665 ~ --o12:5mm
2013301603
MB-17140 MB-19440
Ara Rot Denge Kolu
On Orta Arka Alt Arka
L=399mm 5013503153
2014601505
MB-14410 MB-16425
Z-Rot Rotilli Salincak
Arka On Sag Alt
Plastic L=200mm Ch.->124028
1243200289 2013303907
MB-16426 MB-18441K
Rotilli Salincak Salincak Kiti
On Sol Alt Arka Sag Ust
Ch->124028 1243507706
2013303807

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

4

info@parsrot.com



= Land MERCEDES
190 W201 1982-1993
MB-18442K MB-18444K
,’ rf"/;;b\\\% Salincak .}.(iti Salincak Kiti ﬁ %-/::{\.}

( g ) Arka Sol Ust  Arka ( @ )
\i / 1243507606 1243500129 \: /
MB-18440K MB-18443K
ﬁ ’f/;‘_i\\ Salincak Tami;‘ :(I: i::cak Tamir Kiti ﬁ f"i\\\

l' i' (AN
{\&/;} KitComplete RearAxleShort ‘\l\" /x‘

. 2103500653 2013505606 )
MB-18445 MB-19441
Salincak Tamir Kiti Denge KO|.I.J )

G = Arka  Arka Sag Ust C=——=\
_.ﬂ—_-m M-440/M-441-M-442/M-443/M-444 2103501706
.|
MB-19442 MB-19443
Denge Kolu Denge Kolu
Arka Sol Ust  Arka Ust On M
2103501606 RearAxleShort
2013505606
.|
MB-19444 MB-12101
Denge Kolu Rotbasi ®
Arka Alt On On Sol &-m
2103500029 ~ M12x1.5Lht :
3386010
.|
MB-12102 MB-12103
Rotbasi Rotbasi
On Sag Onig
M12x1,5Rht M12x1,5Rht
3386310 3386110
MB-11402 MB-20414
Rotil Salincak Burcu
On Alt Arka
D=018mm 5503520227
1243330327

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land MERCEDES
280 W115 1968-1977
MB-17212 MB-14340 ’
Ara Rot Z-Rot
H On  Arka = —1&
L=300mm Metal L=108mm f
1153300703 1153201589 -
|
MB-17220 MB-12202
Ara Rot Rotbasi
‘_‘—‘ On Onig
L=500mm M14x1,5Lht
1154601505 3385010
|
. MB-14340A MB-11204
f_“ Z-Rot Rotil
> Arka On Alt
- Plastic L=102mm 41 0500407
‘g 1233200989
|
MB-20376
Salincak Burcu
Arka
1263520265
300D W123 1976-1985
|
MB-20376 MB-20372
Salincak Burcu Salincak Burcu
(AR Aka  Orta
'L“*.x\; . 1263520265 1163336214
|
MB-17312 MB-14340A .
Ara Rot Z-Rot ‘_{2
‘ ‘ On Arka .
L=322mm  Plastic L=102mm hf
1233301803 1233200989 &
| |
MB-17321 MB-12201
_ Ara Rot Rotbasi @
% On On Dis =
L=480mm M14x1,5Rht b -
1234601605 3385110

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
300D W123 1976-1985
|
MB-12301 MB-12302
@ Rotbasi Rotbasi .
@ OnDig Onig @
i - M16x1,5Lht  M16x1,5Rht —
1233380210 1233380110
|
— MB-11305 MB-16330
J= Rotil Rotilli Salincak -
On On Sag Ust ‘\,_ £ Q
( ' 1163330927 1233305307 '
i’
|
MB-12202 MB-14340
Rotbasi Z-Rot
. ¥ Onig Arka i—%
A o M14x15Lht  Metal L=108mm
o 3385010 1153201589 =
|
MB-17320 MB-16331
_ Ara Rot Rotilli Salincak .
L—v_‘ On On Sol Ust D e
L=480mm 4533305207 . ®
1234601505
|
MB-20191
Salincak Burcu
Ust
1163336314
380SE W116 1972-1980
|
MB-20191 MB-16331
Salincak Burcu Rotilli Salincak .
Ust  On Sol Ust Q e
1163336314 1233305207 ‘
|
MB-17320 MB-12202
_ Ara Rot Rotbasi
% On On iQ
L=480mm M14x1,5Lht
1234601505 3385010

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
380SE W116 1972-1980
S
MB-16330 MB-12201
- Rotilli Salincak Rotbas! @
F\,_ < ' On Sag Ust On Dig =
L ) ' Q 1233305307 M14x1.5Rht o '
3385110
S
o MB-14340A MB-17312
f_“ Z-Rot Ara Rot
. Arka On ‘ ‘
5;? Plastic L=102mm  L=322mm
& 1233200989 1233301803
— I
MB-20372
Salincak Burcu
Orta
1163336214
380SE W126 1979-1991
[ N
MB-20376 MB-17312
Salincak Burcu Ara Rot
Arka On ‘ ‘
1263520265 ~ L-T922mm
1233301803
N
- MB-14340A MB-12201
X Z-Rot Rotbasi @
. Arka OnDis -
-; PIaStIC L=1 02mm M14X1 ’5Rht 'ﬂl“ILlIl\HIIIIIHlH.IMLhHIIU ; -
< 1233200989 3385110
[ N
MB-12202 MB-17320
@ Rotbasi Ara Rot _
Onig On \—T‘
— M14x1,5Lht L=480mm
- 3385010 1234601505
MB-16315 MB-16316
Rotilli Salincak Rotilli Salincak
ﬁ—_— _3,;‘ On Sag On Sol art__ ,_,ﬁ
L 2 N 1263300707 1263300607 N 2

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
380SL R107 1971-1989
MB-12202 MB-17212
@ Rotbasi Ara Rot
Onig On
e ——. M14x1,5Lht  L=300mm
- 3385010 1153300703
|
MB-12201 MB-11204
@ Rotbasi  Rotil
@ On Dis On Alt
g 4 M14x1.5Rht 4153331127
3385110
|
MB-20376
— Salincak Burcu
Arka
1263520265
A-CLASS W168 1997-2004
| |
MB-13503 MB-12501
Rot Mili Rotbasi -
@-_—-_-_545 On  OnSag Y
M12x1,5-L=196,5mm  M12x1,5Rht h
1683301335 1683301635
|
MB-12502 MB-11505
- Rotbasi Rotil
u On Sol On
M12x1.5Rht 1683330227
1683301535
|
MB-16525 MB-16526
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
1683302407 1683302307
| |
MB-16525N MB-16526N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
1683302407 1683302307

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
A-CLASS W168 1997-2004
|
MB-18500 MB-14510
Salincak Tamir Kiti Z-Rot
o on >—%
M-501-M-502/M-510/M-525-M-526 Metal L=220mm -
1683201089
|
MB-14511 MB-20201
Z-Rot Salincak Burcu
On Alt
Plastic L=223mm 4143330014
1683200389
MB-20202
Salincak Burcu
Alt
1683330714

A-CLASS

2004-2012

|
MB-13523 MB-12521
Rot Mili Rotbasi
% - On On Sag
' Ch:->J126738 M14x1,5-L=201,5mm M14x1,5
1693300703 1693300603
MB-12522 MB-11530
Rotbasi Rotil
On Sol On
M14x15 4693330127
1693300503
MB-16527 MB-16527N
Rotilli Salincak Rotilsiz Salincak
On Sag Alt On
1693301007 1693300607
MB-16528 MB-14529
Rotilli Salincak Z-Rot
On Sol Alt On
1693300907  LT244mm
1693200989

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

10

info@parsrot.com



—
sy L and

A-CLASS

W169
MB-14537 MB-20591
Z-Rot Salincak Burcu
Arka Arka
1693200589 1693330014
MB-20592
Salincak Burcu
Onig
1693330114
W176
MB-20886 MB-20883
Salincak Burcu Salincak Burcu
Orta Sag
A1563300200 2463304800
MB-20884 MB-19576
Salincak Burcu Denge Kolu
Sol Arka
2463301707 A2463500053
MB-13573 MB-12571
Rot Mili Rotbasi
On On Sag
M14X1,5-L=222mm M14x1,5
A2463380000 2463301800
MB-12572 MB-19577
Rotbasi Denge Kolu
On Sol Arka Ust
M14x1.5 2463501006
2463301700
MB-16578 MB-16579
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
Alm. Alm.
2463304800 2463304700

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2004-2012

2013-2018

parsrot.com

11

info@parsrot.com



Rot sy

== Land MERCEDES
A-CLASS W176 2013-2018
MB-14570 MB-14575A
Z-Rot Z-Rot
Arka On
L=79mm L=333mm
2463200489 2463200089
W245 2005-2011
MB-14537 MB-14529
Z-Rot Z-Rot
Arka On
1693200589 ~ --244mm
1693200989
MB-16528 MB-16527N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On
1693300907 1693300607
MB-16527 MB-11530
Rotilli Salincak Rotil
On Sag Alt On
1693301007 1693330127
MB-12522 MB-12521
Rotbasi Rotbasi
On Sol On Sag
M14x1,5 M14x1,5
1693300503 1693300603
MB-13523 MB-14536A
Rot Mili Z-Rot
:;:r_-—:l g 3 On On
- Ch:->J126738 M14x1,5-L=201,5mm h/l=éih%<ens]mg-0h.1J210987->
1693300703 1 6932;)1 389
|
MB-20592 MB-20591
Salincak Burcu Salincak Burcu
Onig Arka
1693330114 1693330014

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
B-CLASS W246 2011-2016
MB-20884 MB-20883
Salincak Burcu Salincak Burcu
Sol Sag
2463301707 2463304800
MB-20886 MB-12571
Salincak Burcu Rotbasi
Orta On Sag
A1563300200 ~ M14x1.5
2463301800
|
MB-13573 MB-16579
Rot Mili Rotilli Salincak
On On Sol Alt
M14X1,5-L=222mm Alm.
A2463380000 2463304700
MB-16578 MB-12572
Rotilli Salincak Rotbasi
On Sag Alt On Sol
Alm. M14x1,5
2463304800 2463301700
|
MB-14575A MB-14570
Z-Rot Z-Rot
On Arka
L=333mm L=79mm
2463200089 2463200489
C-CLASS W202 1993-2000
| |
MB-17128 MB-17129
Ara Rot Ara Rot
— e On On - o
L=1338mm Only:240-320Series L=1318mm
2024600405 2024600505
MB-12121  MB-11125
Rotbasi Rotil
On On Alt
M12x1,5Rht 5403300435
13307735

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

MERCEDES

1993-2000

= Land
C-CLASS W202
MB-11154 MB-16155
= Rotil Rotilli Salincak
On Ust On Sag Ust
2023304907 2103305107
MB-16156 MB-16126
Rotilli Salincak Rotilsiz Salincak
On Sol Ust On Sag Alt
2103308707 2023304207
MB-16127 MB-16155N
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag
2023304107 2103305107
MB-18100 MB-18999
Salincak Tamir Kiti Salincak Tamir Kiti
On On
SB197/SB200/M-125
|
MB-16156N MB-14410
= Rotilsiz Salincak Z-Rot
On Sol Arka
2103308707 Plastic L=200mm
1243200289
|
MB-19444 MB-19443
Denge Kolu Denge Kolu
m Arka Alt On Arka Ust On
2103500029 RearAxleShort
2013505606
|
MB-19442 MB-19441
Denge Kolu Denge Kolu
Arka Sol Ust Arka Sag Ust
2103501606 2103501706

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land
C-CLASS W202
MB-18445 MB-18443K
Salincak Tamir Kiti Salincak Tamir Kiti
HH
[0 °1° o ©] Arka Arka
S o M-440/M-441-M-442/M-443/M-444 RearAxleShort
2013505606
MB-18440K MB-18444K
Salincak Tamir Kiti Salincak Kiti
Arka Arka
KitComplete 1543500129
2103500653
MB-18442K MB-18441K
Salincak Kiti Salincak Kiti
Arka Sol Ust Arka Sag Ust
1243507606 1243507706
MB-19440 MB-20414
Denge Kolu Salincak Burcu
Arka Alt Arka Arka
2013503153 2203520227
MB-20479 MB-20197
Salincak Burcu Salincak Burcu
Ust Alt
2023337714 2023336414
MB-20198
Salincak Burcu
Alt
2023338714
W203
MB-20414 MB-20461
Salincak Burcu Salincak Burcu
Arka Ust
2203520227 2033330214

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

1993-2000

2000-2007

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
C-CLASS W203 2000-2007
MB-20462 MB-19440
— Salincak Burcu Denge Kolu
On Sag i Arka Alt Arka
2033330914 2013503153
MB-18441K MB-18442K
Salincak Kiti Salincak Kiti
Arka Sag Ust Arka Sol Ust
1243507706 1243507606
MB-18444K MB-18440K
— Salincak Kiti Salincak Tamir Kiti
Arka Arka
1243500129  KitComplete
2103500653
|
MB-18443K MB-18445
Salincak Tamir Kiti Salincak Tamir Kiti
Arka Arka G =
- - M- - - R wa——
RearAxleShort M-440/M-441-M-442/M-443/M-444
2013505606
|
MB-19441 MB-19442
Denge Kolu Denge Kolu
[ ——=" Arka Sag Ust  Arka Sol Ust Cammmae
2103501706 2103501606
| |
MB-19443 MB-19444
Denge Kolu Denge Kolu
M Arka Ust On Arka Alt On -
RearAxleShort 2103500029
2013505606
|
MB-12752 MB-12581
@ Rotbasi Rotbasi
\a On Sol Dig On Sag
M14x1,5Rht (4-Matic-4x4) M14x1,5Rht
2033302303 2033303403

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

16

info@parsrot.com



Rot sy

= Land MERCEDES
C-CLASS W203 2000-2007
.|
MB-12582 MB-12751
s Rotbasi Rotbasi &
On Sol On Sag Dis g;
(4-Matic-4x4) M14x1,5Rht M14x1,5Rht
2033303303 2033302403
.|
MB-16756 MB-16756XT
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sol Alt
2033303311 2033301911
MB-16757 MB-16757XT
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sag Alt
2033303411 2033302011
MB-16758 MB-16758XT
Rotilli Salincak Rotilli Salincak
On Sag Alt On On Sag Ust
2033303611 2043304411
MB-16759 MB-16759XT
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Sol Ust
2033303511 2043304311
MB-18777 MB-14747
Salincak Tamir Kiti Z-Rot
W H . -
bl D On On ‘__.
& & % & M-756/M-757/M-758/M-759/M-747 Only:C230L=277mm .
2033202989
| .|
MB-14748 MB-14749
Z-Rot Z-Rot
_f? On Arka Sag m
Only4-matic L=290mm L=188mm
2033203089 2033200889

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 17 info@parsrot.com



Rot sy

== Land
C-CLASS W203
MB-14754 MB-14750
Z-Rot Z-Rot
;—_‘ On Arka Sol
Only:X,Elojonsport L=276mm L=188mm
2033202889 2033200789
]
MB-13583 MB-13853
Rot Mili Rot Mili
On Onig
2033380215 M14x1,5-L=243mm
2303380015
C-CLASS W204
|
MB-19765 MB-19764
Denge Kolu Denge Kolu
Arka Sol Ust Arka Sag Ust
2043503006 2043503106
MB-19766 MB-19767
Denge Kolu Denge Kolu
Arka Sag Arka Sol
2043502206 2043502106
MB-19768 MB-19769
Denge Kolu Denge Kolu
Arka Sag Alt Arka Sol Alt
2043500653 2043500553
MB-19770 MB-16759XT
Denge Kolu Rotilli Salincak
Arka Alt On Sol Ust
2053506303 2043304311
MB-16759 MB-16758XT
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Sag Ust
2033303511 2043304411

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2000-2007

parsrot.com

18

info@parsrot.com



Rot sy

== Land
C-CLASS w204
MB-16758 KS 90-18
Rotilli Salincak Salincak Tamir Kiti
w OnSagAitOdn  On
2033303611 3300018
MB-14541 MB-14541A
Z-Rot Z-Rot
H On Sag On Sag
Alm.Desing L=306mm MetalDesing L=306mm
2043203889 2043203889
T—— MB-14542 MB-14542A
Z-Rot Z-Rot
% On Sol On Sol
Alm.Desing L=306mm MetalDesing L=306mm
2043203789 2043203789
— MB-14543 MB-14543A
=, Z-Rot Z-Rot
On Sol On Sag
2043201889 Only:Sporsusp.MetalDesign L=306mm
2043201889
MB-14544 MB-14544A
Z-Rot Z-Rot
On Sag On Sol
2043201789 Only:Sporsusp.MetalDesign L=306mm
2043201789
MB-14545 MB-14546
Z-Rot Z-Rot
a 7$ Arka Sag Arka Sol
L=232mm L=232mm
2043200489 2043200589
— MB-13763 MB-12161
Rot Mili Rotbasi
——’ Onig On Sag
M14x1,5-L=275.5mm 4-Matic M14x1,5
2043380015 2043303403

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2007-2013

parsrot.com

19

info@parsrot.com



Rot sy

== Land
C-CLASS w204
MB-12162 MB-12171
Rotbasi Rotbasi
On Sol On Sag Dis
4-Matic M14x1,5 M14x1,5
2043303303 A2043301003
MB-12172 MB-16548
Rotbasi Rotilli Salincak
On Sol Dis On Sag Alt On
M14x1,5 Aluminiumwithout4matic,hydromountSB
A2043300903 2043304411
MB-16549 MB-16761
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Sag Alt Arka
Aluminium,without4matic,hydromountSB 2043306811
2043304311
MB-13253 MB-16762
Rot Mili Rotilli Salincak
On On Sol Alt Arka
PowerSteering 2043306711
2073300500
MB-16772 MB-16773
Rotilli Salincak Rotilli Salincak
On Sag Alt Arka On Sol Alt Arka
4matic 4matic
2043309111 2043309011
MB-16774 MB-16775
Rotilli Salincak Rotilli Salincak
On Sag Alt On On Sol Alt On
(HYDROTYPE) (HYDROTYPE)
2043308811 2043308711
MB-20461 MB-20801
Salincak Burcu Salincak Burcu
Ust Arka Alt
2033330214 2053506603

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2007-2013

parsrot.com

20

info@parsrot.com



—
sy L and

C-CLASS

MERCEDES
W204 2007-2013
|
MB-20678
Salincak Burcu
Alt
2043306811
W205 4x2 2013 after
MB-13793 MB-12791
Rot Mili Rotbasi
On On Sag
M14x1.5-L=245mm M14x1.5
A2054600805 A2054600705
MB-12792 MB-16940
Rotbasi Rotilli Salincak
On Sol On Sag Ust
M14x1.5 Aluminium/RWD
A2054600605 A2053305601
MB-16941 MB-16594
Rotilli Salincak Rotilli Salincak
On Sol Ust On Alt Orta
Aluminium/RWD 2053306001
A2053305501
MB-16942 MB-16943
Rotilli Salincak Rotilli Salincak
On Sag Alt On On Sol Alt On
Aluminium Aluminium
2053301605 2053301505
MB-16944 MB-16945
Rotilli Salincak Rotilli Salincak
On Sag Alt Arka On Sol Alt Arka

RWD RWD
A2053306001 A2053305901
MB-16946 MB-16947
Rotilli Salincak Rotilli Salincak
On Sag Alt Arka On Sol Alt Arka
2053302207 2053302107

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

C-CLASS

W205 4x2
MB-14794 MB-14796
Z-Rot Z-Rot

On Sag Arka Sag
A2053230817 A2053260417
MB-14797 MB-19770

Z-Rot Denge Kolu
Arka Sol Arka Alt
A2053260317 2053506303
MB-19767 MB-19766
Denge Kolu Denge Kolu
Arka Sol Arka Sag
2043502106 2043502206
MB-14795 MB-13783
Z-Rot Rot Mili
On Sol On
A2053230717 M14x1.5-L=243mm
A2054600405
MB-12781 MB-12782
Rotbasi Rotbasi
On Sag On Sol
M14x1.5 M14x1.5
A2054600105 A2054600005
MB-11784 MB-16228
Rotil Rotilli Salincak
On Alt Arka On Sag Alt On
2053305801 2053302005
MB-16229 MB-16788
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Alt Arka
2053301905 2053305801

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2013 after

parsrot.com

22

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= [and
C-CLASS W205 4x4
MB-14786 MB-14787
Z-Rot Z-Rot
On Sag On Sol
L=307,5mm/M12x1,5 L=307,5mm/M12x1,5
A2053231017 A2053230917
MB-14797 MB-14796
Z-Rot Z-Rot
Arka Sol Arka Sag
A2053260317 A2053260417
MB-16941 MB-16940
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Ust
Aluminium/RWD Aluminium/RWD
A2053305501 A2053305601
MB-19766 MB-19767
Denge Kolu Denge Kolu
Arka Sag Arka Sol
2043502206 2043502106
MB-19770 MB-201098
Denge Kolu Salincak Burcu
Arka Alt On Alt On
2053506303 2053302005
CITAN 415
|
RN-12751 RN-13753KM
Rotbasgl Rot Mili Kiti
w On Sag On
' MI4x15 7701478406
A4154600105
|
RN-12752 RN-11754
Rotbasi Rotil
- On Sol On Sag Alt
S M14x1,5  D=@20mm
A4154600005 A4153300200

MERCEDES

2013 after

parsrot.com

23

info@parsrot.com



—
sy L and

415
RN-11755 MB-16188
Rotil Rotilli Salincak
On Sol Alt On Sag
D=020mm  A4153300200

A4153300300

MB-16189 RN-13753

Rotilli Salincak Rot Mili
On Sol On
A4153300300 M14x1,5-L=210mm
A4154600000
RN-14520 MB-20442
Z-Rot Salincak Burcu
On Orta
L=283mm 5500242025

8200669065
MB-20944
Salincak Burcu
OnDig
8200586570

MERCEDES

2012 after

2012-2019

MB-14570 MB-14575A
Z-Rot Z-Rot
Arka On
L=79mm L=333mm
2463200489 2463200089
MB-12572 MB-16578
Rotbasi Rotilli Salincak
On Sol On Sag Alt
M14x1,5 Alm.
2463301700 2463304800
MB-19577 MB-16579
Denge Kolu Rotilli Salincak
Arka Ust On Sol Alt
A2463501006  AM-
2463304700

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land MERCEDES
CLA-CLASS W176 2012-2019
MB-13573 MB-12571
Rot Mili Rotbasi
On On Sag
M14X1,5-L=222mm M14x1,5
A2463380000 2463301800
MB-19576
Denge Kolu
Arka
A2463500053
CL-CLASS C215 1999-2006
|
MB-13853 MB-19859
Rot Mili Denge Kolu
-_gﬂ D; Onig Arka Ust Arka
M14x1,5-L=243mm 2203521105
2303380015
MB-19860 MB-19861
) Denge Kolu Denge Kolu
%_///’—‘C ArkaUstOn  Arka Alt On ° e
- A2203521005  A2203520502
|
MB-23851853 MB-11852 >
Rot Takimi Rotil &
o & On  OnAlt
230338001581 2203300727
|
MB-12851 MB-16862
- Rotbasi Rotilli Salincak
@; A On On Sag Alt On @ S
- M14x1,5Rht FrontLower
2303300203 2203305711
MB-16863 MB-16876
Rotilli Salincak Rotilli Salincak
kﬁ/@, On Sol Alt On On Sag Ust
FrontLower 2203309407
2203305811

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land
CL-CLASS C215
MB-14457 MB-16877
Z-Rot Rotilli Salincak
Arka On Sol Ust
& Plastic L=230mm 2203309307
1403203589
|
MB-14854 MB-14856
Z-Rot Z-Rot
r=—‘ Arka On Sag
Metal L=230mm L=128,5mm
2203203689 A2203201589
MB-14857
Z-Rot
@::*;E":’ii‘* On Sol
: L=128,5mm
A2203201689
A209,C209
MB-13853 MB-14750
Rot Mili Z-Rot
-—w' Onig Arka Sol
M14x1,5-L=243mm L=188mm
2303380015 2033200789
|
MB-14749 MB-14747
Z-Rot Z-Rot
m Arka Sag On
L=188mm Only:C230L=277mm
2033200889 2033202989
|
MB-18777 MB-16758
T Salincak Tamir Kiti Rotilli Salincak
fp—ip S On On Sag Alt On
£y
& & & M-756/M-757/M-758/M-759/M-747 2033303611
|
MB-16758XT MB-16759
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Alt On
2043304411 2033303511

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

1999-2006

2002-2009

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= Land MERCEDES
CLK-CLASS A209,C209 2002-2009
MB-16759XT MB-16757XT
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Alt
2043304311 2033302011
MB-16757 MB-16756XT
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
2033303411 2033301911
MB-16756 MB-12751
Rotilli Salincak Rotbasi
On Sol Alt On Sag Dis
2033303311 M14x1.5Rnt
2033302403
MB-12752 MB-19443
Rotbasi Denge Kolu
On Sol Dis Arka Ust On
M14x1,5Rht RearAxleShort
2033302303 2013505606
|
MB-19442 MB-19441
Denge Kolu Denge Kolu
) < Arka Sol Ust Arka Sag Ust —
2103501606 2103501706
| |
MB-18443K MB-18440K
Salincak Tamir Kiti Salincak Tamir Kiti
Arka Arka
RearAxleShort KitComplete
2013505606 2103500653
MB-18442K MB-18441K
Salincak Kiti Salincak Kiti
Arka Sol Ust Arka Sag Ust
1243507606 1243507706

parsrot.com

27

info@parsrot.com



—
sy L and

CLK-CLASS

MERCEDES
A209,C209 2002-2009
|
MB-19440 MB-20461
Denge Kolu Salincak Burcu —
Arka Alt Arka Ust
2013503153 2033330214
MB-20462
Salincak Burcu
On Sag i
2033330914
C218 2011-2017
|
MB-16288 MB-14286A
Rotilli Salincak Z-Rot —
On Alt Arka On Sag
(4-matic Elec. PS. with ASD) SteelType4Matic
2123301911 2123202689
MB-16698 MB-16699

Rotilsiz Salincak

On Sag Alt Arka

Rotilsiz Salincak

On Sol Alt Arka

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

2183307400 2183307300
MB-14287A MB-201046
Z-Rot Salincak Burcu
On Sol On Alt Arka
SteelType4matic 2123301911
2123202589
C219 4x2 2004-2010
|
MB-18874 MB-14855
Salincak Tamir Kiti Z-Rot
On  Arka e
M-870/M-871-M-868/M-869-M-878/M-85 L=259,5mm
2113304307
MB-14866 MB-14867
Z-Rot Z-Rot
On Sag On Sol O] S
L=128,5mm L=128,5mm ‘
2113201089 2113200989

parsrot.com

info@parsrot.com



Rot sy

= [and
CLS-CLASS C219 4x2
MB-16869 MB-16870
Rotilli Salincak Rotilli Salincak
W On Sag Alt On On Sol Alt Arka
2113303011 2113309107
|
MB-16871 MB-16878
Rotilli Salincak Rotilli Salincak
- o OnSagAltArka  On Sag Alt
2113309207 2113309007
MB-16879 MB-16878N
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On
2113308907 2113309007
MB-18800 MB-18830

Salincak Tamir Kiti

Arka

M-881/M-882/M-883/ M-88M\_/|88§ﬁa\_/|égg

Salincak Tamir Kiti

On
Mﬁ§86i84ﬁ-687%qﬂ-878-“ﬂ-879/ M-868-M-86

MERCEDES

2004-2010

MB-19881 MB-19882
Denge Kolu Denge Kolu
= o
& (it Ldsom -
2303500429 2303500329
Denge Kolu Denge Kolu
— S Arka Alt Arka Sag Ust On e“’%
' L=368mm L=262mm
2303502006 2303503606
Denge Kolu Denge Kolu
ﬁ Arka Sol Ust On Arka Sag Ust Arka ‘Lﬁ
L=262mm L=324,5mm
2303503506 2303502806

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

29

info@parsrot.com



Rot sy

= Land MERCEDES
CLS-CLASS C219 4x2 2004-2010
|
MB-19891 MB-12872
Denge Kolu Rotbasi -
. Arka Sol Ust Ark On Sag
e © ) L232:5mr3 M14x€:?5Rht ___"&
2303502706 2113302403
|
MB-12873 MB-11875 =
Rotbasi Rotil ‘
On Sol On Alt
M14x1.5Rht 5503230368 '
2113302303
|
MB-11880 MB-16868
Rotil Rotilli Salincak
On Alt On Sol Alt On w
2113310008 2113302911
.|
@ MB-11852 MB-20466
& Rotil Salincak Burcu
On Alt Alt Orta
2203300727 2113332914
|
MB-20467 MB-20468

Salincak Burcu

Salincak Burcu

1985-1996

Orta Arka
2113331914 2113331114
MB-20245 MB-20629
Salincak Burcu Salincak Burcu
Arka Ust
2303500429 2113332214
W124
MB-20414 MB-17411
Salincak Burcu Ara Rot
Arka On
2203520227 ~ L7362mm
1243300803

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

—p

parsrot.com

30

info@parsrot.com



Rot sy

= Land MERCEDES
E-CLASS W124 1985-1996
MB-17420 MB-17421
Ara Rot Ara Rot
Sg— On On [~ E——
Ch.->B022104Ch.->B051198 L=446mm Ch.B022104->Ch.B051199-> L=525mm
1244600805 1244601205
MB-17423 MB-12401
Ara Rot Rotbasi =3
[~ E—— On On g *
SteeringWhellRh L=525mm M14x1,5Lht
1244600905 3385910
MB-16433 MB-16434
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
Ch.->124028 Ch.->124028
1243303107 1243303007
MB-16435 MB-16436
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
Ch.124028-> Ch.124028->
1243303507 1243303407
Z-Rot Salincak Burcu
9@=° Arka On Dig
Metal L=200mm 1243333714
1243200489
— MB-19440 MB-18441K
Denge Kolu Salincak Kiti
H Arka Alt Arka Arka Sag Ust
2013503153 1243507706
MB-18442K MB-18444K
Salincak Kiti Salincak Kiti
Arka Sol Ust Arka
1243507606 1243500129

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
E-CLASS W124 1985-1996
MB-18440K MB-18443K
s Salincak Tamir Kiti Salincak Tamir Kiti
Arka Arka
KitComplete RearAxleShort
2103500653 2013505606
| .|
MB-18445 MB-19441
Salincak Tamir Kiti Denge Kolu
HH 9 . .
G =1 Arka Arka Sag Ust Le=——=¢
B e e _ - M- - -
S o M-440/M-441-M-442/M-443/M-444 2103501706
| .|
MB-19442 MB-19443
Denge Kolu Denge Kolu
£? ] Arka Sol Ust  Arka Ust On M
2103501606 RearAxleShort
2013505606
| .|
MB-19444 MB-11402
Denge Kolu Rotil
= Arka Alt On On Alt
2103500029 ~ D=9218mm
1243330327
| .|
MB-14410 MB-12201
Z-Rot Rotbasi @
COM Arka On Dis @
PIaStiC L=200mm M14X1 ’5Rht 'I!llllLlllLHIIulllllln\\iH.IIIII .
1243200289 3385110
E-CLASS W210 1995-2003
| .|
MB-19444 MB-19443
Denge Kolu Denge Kolu
(o—= ArkaAltOn  Arka Ust On M
2103500029 RearAxleShort
2013505606
| .|
MB-19442 MB-19441
Denge Kolu Denge Kolu
== Arka Sol Ust  Arka Sag Ust
2103501606 2103501706
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.
parsrot.com 32 info@parsrot.com



Rot sy

= Land MERCEDES
E-CLASS W210 1995-2003
|
MB-18445 MB-18440K
Salincak Tamir Kiti Salincak Tamir Kiti —
HH
[0 °1° o ©] Arka Arka
= _ - M- _ - ;
S o M-440/M-441-M-442/M-443/M-444 KitComplete
2103500653
|
MB-16156N MB-16155N
Rotilsiz Salincak Rotilsiz Salincak
On Sol On Sag
2103308707 2103305107
MB-16156 MB-16155
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Ust
2103308707 2103305107
MB-11154 MB-11125
Rotil Rotil
On Ust On Alt
2023304907 2103300435
MB-19440 MB-14409
Denge Kolu Z-Rot
H Arka Alt Arka Arka
2013503153 Metal L=200mm
1243200489
|
MB-13133 MB-12131
Rot Mili Rotbasi
—ﬂ On On Sag Dis
M14x1,5-L=243mm M14x1,5Rht
2103380415 2103380615
|
MB-12132 MB-12231
= Rotbasi Rotbasi
< b On Sol Dig On Sag
= /\.-_ M14x1,5Rnt Only:4-Matic M14x1.5
2103380515 2103381015

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

33

info@parsrot.com



Rot sy

= Land
E-CLASS W210
MB-12232 MB-16135
Rotbasi Rotilsiz Salincak
b On Sol On Sag Alt
Only:4-Matic M14x1.5 Lower
2103380915 2103306207
|
MB-16136 MB-18105
Rotilsiz Salincak Salincak Tamir Kiti
On Sol Alt On
Lower M-125-M-137/M-138-SB199/SB200
2103307607
MB-14137 MB-14138
Z-Rot Z-Rot
o;‘— --———*»@ On Sag On Sol
- L=115mm  L=115mm
2103203789 2103203689
MB-20414 MB-20479
Salincak Burcu Salincak Burcu
Arka Ust
2203520227 2023337714
|
MB-20199 MB-20200

Salincak Burcu

Salincak Burcu

Alt Onig
2103336814 2023338714
MB-13233
Rot Mili
On
2103381115
E-CLASS W211
|
MB-20629 MB-20245
Salincak Burcu Salincak Burcu
Ust Arka
2113332214 2303500429

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

1995-2003

2003-2009

parsrot.com

info@parsrot.com



—
sy L and

E-CLASS

W211
MB-20467 MB-20468
Salincak Burcu Salincak Burcu
Orta Arka
2113331914 2113331114
MB-20466 MB-13953

Salincak Burcu Rot Mili
Alt Orta Onig
2113332914 (Onyl:4matic4x4) M14x1,5
A2113302903
MB-121001 MB-121002
Rotbasi Rotbasi
On Sag On Sol
2203381415 2203381315
MB-14956 MB-14957
Z-Rot Z-Rot
On Sag On Sol
4matic4 X4 4matic4X4
2113204889 2113204789
MB-11900 MB-16868
Rotil Rotilli Salincak
On Ust On Sol Alt On
A0003301007 2113302911
MB-11880 MB-11875
Rotil Rotil
On Alt On Alt
2113310008 2203230368
MB-12873 MB-12872
Rotbasi Rotbasi
On Sol On Sag
M14x1,5Rht M14x1,5Rht
2113302303 2113302403

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2003-2009

parsrot.com

35

info@parsrot.com



Rot sy

= Land MERCEDES
E-CLASS W211 2003-2009
MB-19891 MB-19890
Denge Kolu Denge Kolu
S8 Arka Sol Ust Arka Arka Sag Ust Arka B .
y © L=324,5mm L=324,5mm o ﬁ
2303502706 2303502806
MB-19885 MB-19884
Denge Kolu Denge Kolu
m Arka Sol Ust On Arka Sag Ust On e"%
L=262mm L=262mm
2303503506 2303503606
| |
MB-19883 MB-19882
Denge Kolu Denge Kolu )
— ) ArkaAlt  Arka Sol &= %
o L=368mm L=440mm
2303502006 2303500329
|
MB-19881 MB-18830
Denge Kolu Salincak Tamir Kiti
&5 - Arka Sag On
L=440mm Mﬁ?gﬁigllﬁ_687_/v-878-M-879/M-868-M-86
2303500429

MB-18800 MB-16878N
Salincak Tamir Kiti Rotilsiz Salincak
Arka On
M-881/M-882/M-883/M-88M\_/I88§m\_/|égg 2113309007
MB-16879 MB-16878
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
2113308907 2113309007
MB-16871 MB-16870
Rotilli Salincak Rotilli Salincak
w OnSagAltAka  On Sol Alt Arka w
2113309207 2113309107

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
E-CLASS W211 2003-2009
|
MB-16869 MB-14867
Rotilli Salincak Z-Rot
W OnSagAton  On Sol e
2113303011 L=128.5mm
2113200989
| |
MB-14866 MB-14855
Z-Rot Z-Rot
& = - On Sag Arka 6:2_6
L=128,5mm L=259,5mm
2113201089 2113304307
|
MB-18874 MB-11852 >
Salincak Tamir Kiti Rotil ‘& )
On On Alt
M-870/M-871-M-868/M-869-M-878/M—86 2203300727
.|
MB-13853
Rot Mili
-_ﬂ ] Onic
' M14x1,5-L=243mm
2303380015
E-CLASS W212 2009-2016
MB-19765 MB-19764
Denge Kolu Denge Kolu
Arka Sol Ust Arka Sag Ust
2043503006 2043503106
MB-19770 MB-19769
Denge Kolu Denge Kolu
Arka Alt Arka Sol Alt
2053506303 2043500553
MB-19768 MB-14546
Denge Kolu Z-Rot
Arka Sag Alt  Arka Sol t 3%
2043500653 ~ L=232mm
2043200589

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

37

info@parsrot.com



—
sy L and

E-CLASS

e
-

W212
MB-14545 MB-13253
Z-Rot Rot Mili

Arka Sa§ On
L=232mm PowerSteering
2043200489 2073300500
MB-14286A MB-16288
Z-Rot Rotilli Salincak
On Sag On Alt Arka
SteelType4Matic (4-matic Elec. PS. with ASD)
2123202689 2123301911
MB-12251 MB-12252
Rotbasi Rotbasi
On Sag Dis On Sol Dis
M14x1,5 M14x1,5
2123302203 2123302303
MB-12281 MB-12282
Rotbasi Rotbasi
On Sag On Sol
(4Matic)4X4,hydrops M14x1,5 (4Matic)4X4,hydrops M14x1,5
2123301403 2123301303
MB-12691 MB-12692
Rotbasi Rotbasi
On Sag On Sol
(4Matic)4X4,elec.ps M14x1,5 (4Matic)4X4,elec.ps M14x1,5
2124600205 2124600105
MB-11254 MB-16256
Rotil Rotilli Salincak
On Alt On Sag Alt On
2123300135 2123302811
MB-16257 MB-16258
Rotilli Salincak Rotilsiz Salincak
On Sol Alt On On Sag Alt Arka
2123302711 2123303011

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2009-2016

parsrot.com

38

info@parsrot.com



—
sy L and

E-CLASS

MERCEDES

W212 2009-2016

MB-16259

Rotilsiz Salincak

On Sol Alt Arka

MB-18255

Salincak Tamir Kiti

;%?zei%ﬁgzm-z%sg%zsg/nmm/M-75

2123302911
MB-14246 MB-14246A
Z-Rot Z-Rot
On Sol On Sag
L=324mm (ALM) L=324mm
2123201289 2123201289
MB-14247 MB-14247A
Z-Rot Z-Rot
On Sag On Sol
L=324mm (ALM) L=324mm
2123201189 2123201189
MB-13243 MB-13273
Rot Mili Rot Mili
Onig On
M14X1,5-L=237mm (4-matic Elec. PS. with ASD)
2123302103 A2123302803
MB-14287A MB-20414
Z-Rot Salincak Burcu
On Sol Arka
SteelType4matic 9203520227
2123202589
MB-201046 MB-20905
Salincak Burcu Salincak Burcu
On Alt Arka On Sag
2123301911 2123303011
MB-20801 MB-20902
Salincak Burcu Salincak Burcu
Arka Alt On Sag i
2053506603 2123302811

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

39 info@parsrot.com



Rot sy

== Land
E-CLASS W213 4x2
MB-13793 MB-12792
Rot Mili Rotbasi
On On Sol
M14x1.5-L=245mm M14x1.5
A2054600805 A2054600605
MB-12791 MB-16940
Rotbasi Rotilli Salincak
On Sag On Sag Ust
M14x1.5 Aluminium/RWD
A2054600705 A2053305601
MB-16941 MB-16944
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Alt Arka
Aluminium/RWD RWD
A2053305501 A2053306001
MB-16943 MB-16942
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Sag Alt On
Aluminium Aluminium
2053301505 2053301605
MB-16594 MB-14796
Rotilli Salincak Z-Rot
On Alt Orta Arka Sag
2053306001 A2053260417
MB-14797 MB-14794
Z-Rot Z-Rot
Arka Sol On Sag
A2053260317 A2053230817
MB-16947 MB-16946
Rotilli Salincak Rotilli Salincak
On Sol Alt Arka On Sag Alt Arka
2053302107 2053302207

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2016 after

parsrot.com

info@parsrot.com



Rot sy

= [and MERCEDES
E-CLASS W213 4x2 2016 after
MB-16945 MB-14795
Rotilli Salincak Z-Rot
On Sol Alt Arka On Sol
RWD 2053230717
A2053305901
MB-19770 MB-19767
Denge Kolu Denge Kolu
Arka Alt Arka Sol
2053506303 2043502106
MB-19766 MB-19766
Denge Kolu Denge Kolu
Arka Sag Arka Sag
2043502206 2043502206
MB-19767 MB-19770
Denge Kolu Denge Kolu
Arka Sol Arka Alt
2043502106 2053506303
MB-13783 MB-12782
Rot Mili Rotbasi
On On Sol
M14x1.5-L=243mm M14x1.5
A2054600405 A2054600005
MB-12781 MB-14786
Rotbasi Z-Rot
On Sag On Sag
M14x1.5 L=307,5mm/M12x1,5
A2054600105 A2053231017
MB-14787 MB-14797
Z-Rot Z-Rot
On Sol Arka Sol
L=307,5mm/M12x1,5 A2053260317
A2053230917

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= Land MERCEDES
I —————————
E-CLASS W213 4x4 2016 after
MB-14796 MB-16941
Z-Rot Rotilli Salincak
Arka Sa§ On Sol Ust
A2053260417 Aluminium/RWD
A2053305501
MB-16940
Rotilli Salincak
On Sag Ust
Aluminium/RWD
A2053305601
X156 2013 after
MB-19924 MB-19925
Denge Kolu Denge Kolu
Arka Sag Ust Arka Sol Ust
A2463500506 A2463500406
MB-16938 MB-16939
Rotilli Salincak Rotilli Salincak
On Sag On Sol
ALM. ALM.
A1563300200 A1563300100
MB-14360A MB-14366
Z-Rot Z-Rot
On Arka
(Aluminium) L=333mm A2463200789
A2463200689
MB-19576 MB-12571
Denge Kolu Rotbasi
Arka On Sag
A2463500053 ~ M14x15
2463301800
MB-13573 MB-19577
Rot Mili Denge Kolu
On Arka Ust
M14X1,5-L=222mm A2463501006
A2463380000

parsrot.com

info@parsrot.com



Rot sy

= [and
GLA-CLASS X156
MB-12572 MB-20886
Rotbasi Salincak Burcu
On Sol Orta
M14x1.5 A1563300200
2463301700
MB-20970 MB-20976
Salincak Burcu Salincak Burcu
Sag Ust Arka Sag
2463500506 1563300600
MB-20977
Salincak Burcu
Sol
A1563300100
GLC-CLASS X253,C253
|
MB-19770 MB-19767
Denge Kolu Denge Kolu
Arka Alt Arka Sol
2053506303 2043502106
MB-19766 MB-14556
Denge Kolu Z-Rot
Arka Sa§ On Sag
2043502206 2533230217
MB-14557 MB-14796
Z-Rot Z-Rot
On Sol Arka Sag
2533230117 A2053260417
MB-14797 MB-12781
Z-Rot Rotbasi
Arka Sol On Sag
A2053260317 ~ M14x1.5
A2054600105

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2013 after

2016 after

parsrot.com

info@parsrot.com



Rot sy

== Land MERCEDES
GLC-CLASS X253,C253 2016 after
|
MB-12782 MB-13783
— Rotbasi Rot Mili —
On Sol On
M14x1.5 M14x1.5-L=243mm
A2054600005 A2054600405
GL-CLASS X164 2006-2012
| |
MB-14828 MB-14829
l Z-Rot  Z-Rot
P Py On Arka
= L=195,5mm L=117mm
1643201332 1643201232
|
MB-16838 MB-16839
—_— Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
2513300807 2513300707
MB-16824 MB-16825
Rotilsiz Salincak Rotilsiz Salincak
On Sag On Sol
1643303007 1643302907
MB-19834 MB-19835
—— Denge Kolu Denge Kolu
Arka Sagd Arka Sol
L=362MM L=362MM
1643501606 1643501306
|
MB-19837 MB-13823
Denge Kolu Rot Mili
Arka On
1643501406 M14x1,5-L=204mm
1644600005
MB-12821 MB-12822
— Rotbasi Rotbasi
On Sag On Sol
M14x1,5 M14x1,5
1643301203 1643301103

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

44

info@parsrot.com



ﬂo[n
= Land MERCEDES

GL-CLASS 2006-2012

MB-11826 MB-11827
Rotil Rotil
On Alt Arka
1643300935 1643530327

MB-20920 MB-20917
Salincak Burcu Salincak Burcu
Sol Arka Orta
1643303407 1643303507

MB-20919 DO-20866
Salincak Burcu Salincak Burcu
Sag Arka Arka
1643303507 52124840AB

GL-CLASS X166 2006 after
I I
MB-19833
&N Denge Kolu
Arka
_ 1663500053
GL-CLASS X166 2011 after
I I
MB-20864
N Salincak Burcu
! Arka
_ 1663500106
GL-CLASS X166 2012 after
I I
MB-20865 MB-20959
Salincak Burcu Salincak Burcu

Arka On Sag Ust i¢
1663500206 1663330714

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 45 info@parsrot.com



—
sy L and

GL-CLASS

X166
MB-20990 MB-20991
Salincak Burcu Salincak Burcu
On Sag Alt Dis On Sol Alt Dig
1663300207 1663300107
MB-20988 MB-20989
Salincak Burcu Salincak Burcu

On Alt Orta On Altlg
1663300243 A1663330200
MB-19833 MB-14829
Denge Kolu Z-Rot
Arka Arka
1663500053 -~ 117mm
1643201232
MB-19632 MB-19644
Denge Kolu Denge Kolu
Arka On Arka Sag
A=193mm  A1663500206
A1663500306
MB-19645 MB-13633
Denge Kolu Rot Mili
Arka Sol On
A1663500106 M16X1,5-L=270mm
A1663380315
MB-12631 MB-11630
Rotbasi Rotil
On On Alt
M16X1.5  A1663300235
A1663300403
MB-16634 MB-16635
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
ALM. ALM.
A1663301807 A1663301707

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2012 after

parsrot.com

46

info@parsrot.com



Rot sy

= Land
GL-CLASS X166
MB-16638 MB-16639
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
Aluminium Aluminium
A1663300207 A1663300107
MB-14636 MB-14637
Z-Rot Z-Rot
On Sag On Sol
L=360mm L=360mm
A1663200889 A1663200789

MERCEDES

2012 after

MB-12351 MB-12352
Rotbasi Rotbasi
On Sag On Sol
M14x1,5 M14x1,5
2043302003 2043301903
MB-16367 MB-16368
Rotilli Salincak Rotilli Salincak
On Alt Arka On Sag Alt Arka
AluminiumType Aluminium
2043308011 2043308211
MB-16369 MB-14356A
Rotilli Salincak Z-Rot
On Sol Alt Arka On Sag
2043308111 Metal.Desingn L=290mm
2043202289
MB-14357A MB-13903
Z-Rot Rot Mili
On Sol Onig
Metal.Design L=290mm M14x1.5-L=243,5mm
2043200789 2043380515
MB-13273 MB-14546
Rot Mili Z-Rot
On Arka Sol
(4-matic Elec. PS. with ASD) L=232mm
A2123302803 2043200589

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

-
)

parsrot.com

info@parsrot.com



Rot sy

= [and
GLK-CLASS X204
MB-14545 MB-19766
Z-Rot Denge Kolu
= _f ArkaSa§  Arka Sag
hd L=232mm
B 2043502206
2043200489
|
MB-19767 MB-19764
Denge Kolu Denge Kolu
Arka Sol Arka Sag Ust
2043502106 2043503106
MB-19765 MB-20345
Denge Kolu Salincak Burcu
Arka Sol Ust On Alt Arka
2043503006 2043308011
MATRIS w447
|
MB-12611 MB-13613
Rotbasi Rot Mili
On Sag On
A4474600148 A4474600055
MB-12612 MB-12991
Rotbasi Rotbasi
On Sol On Sag
A4474600048 4474600348
MB-12992 MB-11615
Rotbasi Rotil
On Sol On Alt
4474600248 4473330127
MB-16619 MB-16618
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
A4473301407 A4473301507

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

MERCEDES

2008-2016

info@parsrot.com



Rot sy

== Land MERCEDES
MATRIS W447 2016 after
MB-14610 MB-14616
Z-Rot Z-Rot
On On Sag
A4473200489 A4473200389
MB-14617 MB-14626
Z-Rot Z-Rot
On Sol On Sag
A4473200089 A4473200289
MB-14627 MB-20974
Z-Rot Salincak Burcu
On Sol On Dig
A4473200189 4473330514
.|
MB-20934
Salincak Burcu
On Sag Alt ig
6393301201
ML-CLASS W163 1998-2005
|
MB-14804 MB-14807
Z-Rot Z-Rot
e " Arka On Sag
A1633200032 ChNo:->1A289559-ChNo:->1X754619

1633200190

|
MB-14808 MB-19813
Z-Rot Denge Kolu
On Sol Arka Sag Ust
ChNo:->1A289559-ChNo:->1X754619 1633520501
1633200090
|
@ MB-19814 MB-19818
Denge Kolu Denge Kolu
Arka Sol Ust Arka Sag Ust Arka _
rd 1633520401 1633500653 o
- - .,

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

49

info@parsrot.com



Rot sy

= Land MERCEDES
ML-CLASS W163 1998-2005
|
| MB-19819 MB-13803
/ﬂ Denge Kolu Rot Mili
> Arka Sol Ust Arka On Mr
C < 1633500553  M16x1,5-L=160mm ‘
\_a 1633380215
| |
MB-12801 MB-12802
Rotbasi Rotbasi
% On Sag On Sol
A M16x1,5Rht  M16x1,5Rht q
1633300403 1633300103
| |
@ MB-11805 MB-11806 -
= Rotil Rotil &)
. On Alt Arka :

\ a 1633300135 1633500113 /
| .|
MB-16811 MB-16812
Rotilli Salincak Rotilli Salincak
On Sag On Sol
1633330101 1633330001
| .|

MB-20539
Vo Salincak Burcu
:ﬁ. ‘ﬂ: On Sag i
1633300175
ML-CLASS W164 2005-2011
| |
MB-14828 MB-14829
l Z-Rot  Z-Rot
A On Arka
= 1 L=195,5mm L=117mm -
" 1643201332 1643201232
| |
MB-16825 MB-16824
Rotilsiz Salincak Rotilsiz Salincak
On Sol On Sag
1643302907 1643303007

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

ML-CLASS

MERCEDES
2005-2011

MB-16839 MB-16838
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Ust
2513300707 2513300807
MB-11827 MB-11826
Rotil Rotil
Arka On Alt
1643530327 1643300935
MB-12822 MB-12821
Rotbasi Rotbasi
On Sol On Sag
M14x1,5 M14x1,5
1643301103 1643301203
MB-13823 MB-19837

Rot Mili Denge Kolu
On Arka
M14x1,5-L=204mm 1643501406
1644600005
MB-19835 MB-19834
Denge Kolu Denge Kolu
Arka Sol Arka Sag
L=362MM L=362MM
1643501306 1643501606
MB-19833 MB-20919
Denge Kolu Salincak Burcu
Arka Sag Arka
1663500053 1643303507
MB-20917 MB-20920
Salincak Burcu Salincak Burcu
Orta Sol Arka
1643303507 1643303407

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
ML-CLASS W164 2005-2011
MB-20865 MB-20864
Salincak Burcu Salincak Burcu
Arka Arka
1663500206 1663500106
DO-20866
Salincak Burcu
Arka
52124840AB
ML-CLASS W166 2011-2019
|
MB-20864 MB-20865
Salincak Burcu Salincak Burcu
Arka Arka
1663500106 1663500206
MB-20959 MB-20989
Salincak Burcu Salincak Burcu
On Sag Ust g On Alt g
1663330714 A1663330200
MB-20988 MB-20991
Salincak Burcu Salincak Burcu
On Alt Orta On Sol Alt Dig
1663300243 1663300107
MB-20990 MB-19833
Salincak Burcu Denge Kolu
On Sag Alt Dis Arka
1663300207 1663500053
MB-14829 MB-19632
Z-Rot Denge Kolu
Arka Arka On
L=117mm A=193mm
1643201232 A1663500306

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= [and MERCEDES
ML-CLASS W166 2011-2019
|
MB-19645 MB-19644
— Denge Kolu Denge Kolu A
ArkaSol  Arka Sag !
A1663500106 A1663500206
|
MB-16635 MB-16634
Rotilli Salincak Rotilli Salincak
On Sol Ust On Sag Ust
ALM. ALM.
A1663301707 A1663301807
MB-12631 MB-13633
— Rotbasi Rot Mili
On On
M16X1,5 M16X1,5-L=270mm
A1663300403 A1663380315
|
MB-16639 MB-16638
Rotilsiz Salincak Rotilsiz Salincak
On Sol Alt On Sag Alt
Aluminium Aluminium
A1663300107 A1663300207
MB-14637 MB-14636
— Z-Rot Z-Rot P
On Sol On Sag !
L=360mm L=360mm
A1663200789 A1663200889
| .|
MB-201123
Salincak Burcu
On Alt
1663300207
W251 2006-2013
.|
MB-14828 MB-14829
Z-Rot Z-Rot
On Arka
L=195,5mm L=117mm
1643201332 1643201232 ]

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

53

info@parsrot.com



Rot sy

= Land MERCEDES
R-CLASS W251 2006-2013
MB-16838 MB-16839
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust
2513300807 2513300707
MB-19834 MB-19835
Denge Kolu Denge Kolu
Arka Sag Arka Sol
L=362MM L=362MM
1643501606 1643501306
MB-19837 MB-11826
Denge Kolu Rotil
Arka On Alt
1643501406 1643300935
MB-11827 MB-12831
Rotil Rotbasi
Arka On Sag
1643530327 ~ M14x1.5
2513300803
MB-12832 MB-16846
Rotbasi Rotilsiz Salincak
On Sol On Sag
M14x1.5 A2513302007
2513300703
— MB-16847 MB-14836
Rotilsiz Salincak Z-Rot
On Sol On
A2513301907 Ch.N0:A064885-> L=235mm
1643202132
MB-20978 MB-20979
,,/‘:;__;t*\ Salincak Burcu Salincak Burcu
LR | Sol Dig Sag Alt
| N\ A2513302007 A2513301907

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

mw Land MERCEDES
R-CLASS W251 2006-2013
DO-20866
== Salincak Burcu
Arka
52124840AB
S-CLASS W140 1991-1999
MB-19470 MB-19471
Denge Kolu Denge Kolu
Arka Alt Arka Arka Ust Arka - W—
RearAxleLower RearAxleUpper
1403503406 1403503506
MB-19472 MB-19473
Denge Kolu Denge Kolu
Arka Ust On Arka M
RearAxleUpper L=290mm
1403503606 1403503053
MB-23453 MB-12451
Rot Takimi Rotbasi f-
On Onig &
1403300003 ~ M16x1.5 oo
13306335
MB-12452 MB-11455 Y
Rotbas! Rotil T
OnDis On 3
M16x1.5 1403330327 E
13306235 __’jb )
. 4
MB-16475 MB-16476
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Ust A
FrontUpper FrontUpper 1
1403307707 1403307607
MB-16466 MB-16467
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
Lower Lower
1403307107 1403307007

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 55 info@parsrot.com



’M’L-a'
= Lan MERCEDES
S-CLASS W140 1991-1999
MB-14450 MB-14458
" _ Z-Rot Z-Rot
On Sag Arka
L=152mm Metal L=230mm
-
1403201289 1403201789
MB-14460 MB-14457
_ “ Z-Rot Z-Rot
On Sol Arka
L=152mm Plastic L=230mm
-
1403201189 1403203589
MB-20414 MB-20190
Salincak Burcu Salincak Burcu
Arka Ust
2203520227 1403331714
W220
MB-20414 MB-20464
Salincak Burcu Salincak Burcu
Arka Arka
2203520227 1403524665
MB-20460 MB-14457
Salincak Burcu Z-Rot
On Arka
2203331714 Plastic L=230mm
1403203589
MB-14854 MB-16877
Z-Rot Rotilli Salincak
’§‘ Arka On Sol Ust
Metal L=230mm 2203309307
2203203689
|
MB-16876 MB-16863
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sol Alt On
2203309407 FrontLower
2203305811

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
S-CLASS W220 1999-2005
|
MB-16862 MB-12851
Rotilli Salincak Rotbasi -
@EJ OnSagAitOn  On g 5
FrontLower M14x1,5Rht 4
2203305711 2303300203
|
> MB-11852 MB-23851853
153 Rotil Rot Takimi
On Alt On o g*?
2203300727 230338001581
|
MB-19861 MB-19860
Denge Kolu Denge Kolu -
@ (] Arka Alt On Arka Ust On %_//_:0
A2203520502  A2203521005 —
MB-19859 MB-121002
Denge Kolu Rotbasi
Arka Ust Arka On Sol
2203521105 2203381315
MB-121001 MB-14857
Rotbasi Z-Rot
On Sag On Sol
2203381415 L=128,5mm
A2203201689
.|
MB-14856 MB-19858
Z-Rot Denge Kolu
OnSay  Arka Alt Arka H
L=1285mm 5503520003
A2203201589
| .|
MB-16864 MB-16865
Rotilli Salincak Rotilli Salincak
M On Sol AltArka  On Sag Alt Arka w
2203308907 2203309007

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

57

info@parsrot.com



Rot sy

= Land MERCEDES
S-CLASS W220 1999-2005
MB-16988 MB-18535
Rotilsiz Salincak Salincak Tamir Kiti
On Alt Arka Arka
Ch->:0280090nly:A.B.Cli %858/859,2AD/M-860/861 ,2AD/M-8542
2153300707
MB-14848 MB-14849
Z-Rot Z-Rot
On Sag On Sol
Only:4Matic L=258.6mm Only:4Matic L=258.6mm
2203203489 2203203389
| |
MB-13853 MB-20459
Rot Mili Salincak Burcu
e B Onig  On
M14x1,5-L=243mm 2203331814
2303380015
|
MB-20621
Salincak Burcu
Arka
2103520065
S-CLASS W221 2005-2013
|
MB-20755 MB-20756
Salincak Burcu Salincak Burcu
Alt On
2213330814 2213331914
MB-20757 MB-20758
Salincak Burcu Salincak Burcu
Ust Ust
2213331914 2213309007
MB-20888 MB-19915
Salincak Burcu Denge Kolu
Arka Arka Sag Alt Arka
A2213501153 A2223500229

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

== Land MERCEDES
S-CLASS W221 2005-2013
MB-19916 MB-16913
Denge Kolu Rotilli Salincak
Arka Sol Alt Arka On Sag Alt Arka

On Sol Alt Arka
Ch:->097048(Only:4871i, TypeABC)

A2223500129 %:528\%78)48/»:0-28/06/2006(On|y:487|i
2213308207
MB-16914 MB-16927
Rotilli Salincak Rotilli Salincak

On Sag Alt Arka
Ch:A000101->

2213307107 2213308807
MB-16928 MB-19917
Rotilli Salincak Denge Kolu
On Sol Alt Arka Arka Sag Alt
Ch:A000101-> A=285MM
2213308707 A2213501253
MB-19918 MB-19920
Denge Kolu Denge Kolu
Arka Sol Alt On Arka Sag Ust On
A=285MM - 22213501006
A2213501153
MB-19921 MB-19922
Denge Kolu Denge Kolu
Arka Sol Ust On Arka Sag Ust Arka
A2213500206 A2213500606
MB-19923 MB-13893
Denge Kolu Rot Mili
Arka Sol Ust Arka On
A2213500406 M14x1,5-L=262mm
2213301603
MB-12892 MB-16894
Rotbasi Rotilli Salincak
On On Sag Alt On
M14x1.5 9213306411
2213303903

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= [and MERCEDES
S-CLASS W221 2005-2013
MB-16895 MB-16898
Rotilli Salincak Rotilli Salincak
On Sol Alt On On Sag Alt
2213306311 2213308207
MB-16899 MB-16908
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Ust
2213308107 2213309007
MB-14889 MB-16909
Z-Rot Rotilli Salincak
|!| 3 Arka Sol On Sol Ust
L=241mm 5513308907
2213201989
|
MB-14886 MB-14887
Z-Rot Z-Rot
- ‘ On Sag On Sol b 5
L=262mm L=262mm
2213300289 2213300189
| .|
MB-14888 MB-14888
Z-Rot Z-Rot
ﬂ ﬁ Arka Sag Arka Sag ﬂ '!'
L=241mm L=241mm
2213202289 2213202289
| .|
MB-16909 MB-14889
Rotilli Salincak Z-Rot
On Sol Ust Arka Sol 6 u
2213308907 ~ LT241mm
2213201989
MB-12904 MB-12905
Rotbasi Rotbasi
- On Sag On Sol %"' é
Q\F’: M14x1,5 M14x1,5
2213303403 2213303303

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

S-CLASS

W221 4x4
MB-16906 MB-16907
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt On
2213306611 2213306511
MB-16911 MB-16912
Rotilli Salincak Rotilli Salincak
On Sag Alt Arka On Sol Alt Arka
2213307807 2213307707
MB-14896 MB-14897
Z-Rot Z-Rot
On Sag On Sol
L=289.5mm L=289.5mm
2213201689 2213201589
MB-16908 MB-13903
Rotilli Salincak Rot Mili
On Sag Ust Onig
9213309007 M14x1.5-L.=243,5mm
2043380515
MB-20758 MB-20756
Salincak Burcu Salincak Burcu
Ust On
2213309007 2213331914
W222,V222,X222
MB-19916 MB-19915
Denge Kolu Denge Kolu
Arka Sol Alt Arka Arka Sag Alt Arka
A2223500129 A2223500229
MB-121011 MB-12561
Rotbasi Rotbasi
On On Sag
2223307000  4matic
2223300203

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2005-2013

parsrot.com

61

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

== Land MERCEDES
S-CLASS W222,V222,X222 2014 after
MB-12562 MB-16978
Rotbasi Rotilli Salincak
On Sol On Sag Ust
4matic 5473304000
2223300103
MB-16979 MB-14966
Rotilli Salincak Z-Rot
On Sol Ust On Sag
2173303900 (forvehicleswithoutABC) A=256MM
A2223201689
MB-14967 MB-14974
Z-Rot Z-Rot
On Sol Arka Sag
(forvehicleswithoutABC) A=256MM (W/OABC)
A2223201789 2223200489
MB-14975 MB-14976
Z-Rot Z-Rot
Arka Sol On Sag
(W/OABC) (4matic&for vehicles without ABC)
2223200389 A2223201089
MB-14977 MB-13273
Z-Rot Rot Mili
On Sol On
(4matic&for vehicles without ABC) (4-matic Elec. PS. with ASD)
A2223201189 A2123302803
MB-201049
Salincak Burcu
On Ust
2173303900
SL-CLASS R129 1989-2001
| |
MB-18440K MB-19441
Salincak Tamir Kiti Denge Kolu
Arka Arka Sag Ust © —
KitComplete 2103501706
2103500653

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
SL-CLASS R129 1989-2001
|
MB-19442 MB-19443
Denge Kolu Denge Kolu
e Arka Sol Ust  Arka Ust On M
2103501606 RearAxleShort
2013505606
| |
MB-14410 MB-19440
Z-Rot Denge Kolu
_ Arka Arka Alt Arka H
Plastic L=200mm 2013503153
1243200289
SL-CLASS R230 2001-2012
| |
MB-13853 MB-11900
Rot Mili Rotil —
-_ﬂl Onig On Ust
M14x1,5-L=243mm A0003301007
2303380015
|
MB-19881 MB-19882
Denge Kolu Denge Kolu
Z - ArkaSag  Arka Sol - >,
& L=440mm L=440mm -
2303500429 2303500329
| |
MB-19883 MB-19884
Denge Kolu Denge Kolu
e = Arka Alt Arka Sag Ust On e-“ ——
o L=368mm L=262mm
2303502006 2303503606
| |
MB-19885 MB-19890
Denge Kolu Denge Kolu
—— a--9 Arka Sol Ust On Arka Sag Ust Arka ,A..(.
L=262mm L=324,5mm o
2303503506 2303502806
| |
MB-19891 MB-11875 s
Denge Kolu Rotil
o Arka Sol Ust Arka On Alt
o _
° L=324.5mm 5503230368
2303502706

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

63

info@parsrot.com



Rot sy

= Land
SL-CLASS R230
MB-16868 MB-18874
Rotilli Salincak Salincak Tamir Kiti
w OnSolAltOon  On
2113302911 gl-870/M-871 -M-868/M-869-M-878/M-87
|
MB-14855 MB-16869
Z-Rot Rotilli Salincak
Q—=2—§ Arka On Sag Alt On
L=259.5mm 5113303011
2113304307
|
MB-16870 MB-16871
Rotilli Salincak Rotilli Salincak
< ~ OnSol AltArka  On Sag Alt Arka
2113309107 2113309207
MB-18800 MB-23851853
Salincak Tamir Kiti Rot Takimi
Arka On
M-881/M-882/M-883/M-88M\_/I88§Wégg 230338001551
MB-11852 MB-12851
Rotil Rotbasi
On Alt On
2203300727 ~ M14x1,5Rnt
2303300203
MB-14457 MB-20466
Z-Rot Salincak Burcu
Arka Alt Orta
Plastic L=230mm 2113332914
1403203589
|
MB-20467 MB-20245
Salincak Burcu Salincak Burcu
Orta Arka
2113331914 2303500429

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2001-2012

parsrot.com

64

info@parsrot.com



Rot sy

= Land
SLK-CLASS R170
MB-17134 MB-11125
Ara Rot Rotil
On On Alt
Only:RHSteering 2103300435
1704630015
MB-12121 MB-19443
Rotbasi Denge Kolu
On Arka Ust On
M12x1,5Rht RearAxleShort
13307735 2013505606
MB-19444 MB-19442
Denge Kolu Denge Kolu
Arka Alt On Arka Sol Ust
2103500029 2103501606
MB-19441 MB-18440K
Denge Kolu Salincak Tamir Kiti
° —— O Arka Sag Ust Arka
2103501706 KitComplete
2103500653
|
MB-18445 MB-18443K
Salincak Tamir Kiti Salincak Tamir Kiti
HH
=0 =0 Arka Arka
e g _ - M- _ -
M-440/M-441-M-442/M-443/M-444 RearAxleShort
2013505606
|
MB-18444K MB-18442K
Salincak Kiti Salincak Kiti
Arka Arka Sol Ust
1243500129 1243507606
MB-18441K MB-19440
Salincak Kiti Denge Kolu
Arka Sag Ust Arka Alt Arka
1243507706 2013503153

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

1997-2004

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
SLK-CLASS R171 2004-2011
MB-18777 MB-14747
Salincak Tamir Kiti Z-Rot
D Db On On
e & & & M-756/M-757/M-758/M-759/M-747 Only:C230L=277mm
2033202989
|
MB-12752 MB-12751
@ Rotbasi Rotbasi
‘a On Sol Dis On Sag Dis
M14x1,5Rht M14x1,5Rht
2033302303 2033302403
|
MB-16756 MB-16756XT
Rotilli Salincak Rotilli Salincak
H OnSolAlt  On Sol Alt
2033303311 2033301911
|
MB-16757 MB-16757XT
Rotilli Salincak Rotilli Salincak
H OnSagAlt  On Sag Alt
2033303411 2033302011
|
MB-16759XT MB-16759
P, Rotilli Salincak Rotilli Salincak
On Sol Ust On Sol Alt On
2043304311 2033303511
MB-16758XT MB-16758
Rotilli Salincak Rotilli Salincak
On Sag Ust On Sag Alt On
2043304411 2033303611
MB-13193 MB-14196
Rot Mili Z-Rot
On On
M14x1,5Rht 41743230017
1713380015

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

66

info@parsrot.com



—
sy L and

SLK-CLASS

MERCEDES
R171 2004-2011
MB-20462 MB-20461
Salincak Burcu Salincak Burcu
On Sag i Ust
2033330914 2033330214
R172 2011 after
|
MB-19381 MB-19382
Denge Kolu Denge Kolu
Arka Sag Ust Arka Sol Ust
1723500206 1723500106
MB-13383 MB-14385A
Rot Mili Z-Rot
On On Sag
2043380615 ~ Metaldesign
1723230217
|
MB-14386A MB-14387
Z-Rot Z-Rot
On Sol Arka
metaldesign 74753200089
1723230117
MB-16762 MB-16761
Rotilli Salincak Rotilli Salincak
On Sol AltArka  On Sag Alt Arka m
2043306711 2043306811
|
MB-16758 MB-16759
Rotilli Salincak Rotilli Salincak
On Sag Alt On On Sol Alt On
2033303611 2033303511
R172 2012 after
.|
MB-14387
Z-Rot
Arka
A1723200089

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



—
sy L and

SPRINTER

MERCEDES
W901,W902,W903 1995-2006
|
MB-18711 MB-18712
Salincak Tamir Kiti Salincak Tamir Kiti

On

M-701/M-703/M-706/M-707/M-709/M—76

On

g/l-701/M-703/M-705/M-706/M-707/SB40

MB-20405 MB-14730
Salincak Burcu Z-Rot
Alt Arka
9013300214  L=185mm
9063201389
MB-14727 WMB-14726
Z-Rot Z-Rot
On Sol On Sag
616CDI 616CDI
9053200489 9053200589
MB-14708 MB-14707
Z-Rot Z-Rot
Arka On Sol
L=93mm EXC.616CDI L=115mm
9013200089 9013200289
MB-14706 MB-16710
Z-Rot Rotilli Salincak
On Sag On Sol Alt
EXC.616CDI L=115mm 9013302407
9013200389
MB-16709 MB-11715
Rotilli Salincak Rotil
On Sag Alt On
9013302507 ~ 4Matic(4x4)
9013331127
MB-11705 MB-12701
Rotil Rotbasi
On Alt On
9013330727 ~ M16x1,5Rnt
9014600148

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

68

info@parsrot.com



—
sy L and

SPRINTER

MERCEDES
W901,W902,W903 1995-2006
|
MB-23701703 MB-13703
Rot Takimi Rot Mili
On On ﬂ
9014600205 M16x1,5Rht-L=388mm
9014600455
|
MB-14720
Z-Rot
Arka
withequipment904
9013200589
W06 2006-2019
|
DO-20690 MB-23733731
Salincak Burcu Rot Takimi
On Sag Altig On .: ’:
9063304107 9064600055
|
MB-13733 MB-14737
Rot Mili Z-Rot
On On Sol
9064600055 9063201789
|
MB-14736 MB-16739
Z-Rot Rotilli Salincak
On Sag On Sol Alt
9063201889 9063304007
MB-16738 MB-11732
Rotilli Salincak Rotil
On Sag Alt On Alt
9063304107 9063330227
MB-12731 MB-18734
Rotbasi Salincak Tamir Kiti
On On
0064600048 BI-731/M-733/M-736-M-737/M-738/M-73

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

69 info@parsrot.com



Rot sy

= Land MERCEDES
SPRINTER W906 2006-2019
|
MB-14735
Pam Z-Rot
Arka
9063201489
T1 W601,W602 1977-1994
|
MB-20574
Salincak Tamir Kiti
On
_ 6015860132
VANEO W414 2002-2005
|
MB-13673 MB-12671
Rot Mili Rotbas!
—;’ On  Onsag
M14X1,5Rht-L=196mm M14x1,5Rht
4144600205 4144600105
|
MB-12672 MB-11675
Rotbasi Rotil
u OnSol  OnAlt
M14x1,5Rht 4143330227
4144600005
|
MB-16678 MB-16679
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
_ 4143300607 4143300507
|
MB-16678N MB-16679N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
_ 4143300607 4143300507
|
MB-14677 MB-20201
Z-Rot Salincak Burcu
% & On  Alt
@ L=207Tmm 4443330014
4143200389

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= Land MERCEDES
VIANO W447 2014 after
MB-12611 MB-12612
Rotbasi Rotbasi
On Sag On Sol
A4474600148 A4474600048
MB-14627 MB-14626
Z-Rot Z-Rot
On Sol On Sag
A4473200189 A4473200289
MB-14617 MB-14616
Z-Rot Z-Rot
On Sol On Sag
A4473200089 A4473200389
MB-14610 MB-16618
Z-Rot Rotilli Salincak
On On Sag Alt
A4473200489 A4473301507
MB-16619
n/::-—-:t‘\ RotilliSaIlncak
oS | On Sol Alt
A4473301407
VIANO W639 2003-2014
| |
MB-13683 MB-12681
Rot Mili Rotbasi
e - On On Sag
M16x1,5Rht-L=290mm M16X1,5Rht
6394600255 6394600348
|
MB-12682 MB-11665
= Rotbasi Rotil
@- 4 On Sol On
M16X1.5RNt 6393330227
6394600048

parsrot.com

info@parsrot.com



Rot sy

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

= Land MERCEDES
W639 2003-2014
MB-16648 MB-14686
Rotilli Salincak Z-Rot
On Sag Alt On Sag
6393301501  L-=280mm
6393200389
MB-14687 MB-16649
Z-Rot Rotilli Salincak
On Sol On Sol Alt
L=280mm 6393301401
6393200289
MB-16668 MB-16669
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6393300510 6393300410
MB-16668N MB-16669N
Rotilsiz Salincak Rotilsiz Salincak
On Sag Alt On Sol Alt
6393300510 6393300410
MB-14486 MB-14487
Z-Rot Z-Rot
On Sag On Sol
6393200889 6393200789
MB-14670
Z-Rot
Arka
Ch:->3603471 A=145MM
6393260616
VITO w447 2014 after
|
MB-16619 MB-16618
Rotilli Salincak Rotilli Salincak
On Sol Alt On Sag Alt
A4473301407 A4473301507

parsrot.com

info@parsrot.com



Rot sy

== Land
VITO W447
MB-14610 MB-14616
Z-Rot Z-Rot
On On Sag
A4473200489 A4473200389
MB-14617 MB-14626
Z-Rot Z-Rot
On Sol On Sag
A4473200089 A4473200289
MB-14627 MB-12612
Z-Rot Rotbasi
On Sol On Sol
A4473200189 A4474600048
MB-12991 MB-11615
Rotbasi Rotil
On Sag On Alt
4474600348 4473330127
MB-12992 MB-12611
Rotbasi Rotbasi
On Sol On Sag
4474600248 A4474600148
MB-13613 MB-20974
Rot Mili Salincak Burcu
On OnDis
A4474600055 4473330514
MB-20934
N\ Salincak Burcu
B | On Sag Alt i¢
6393301201

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES

2014 after

parsrot.com

info@parsrot.com



Rot sy

= Land MERCEDES
VITO W638 1997-2003
MB-13603 MB-23601603
Rot Mili Rot Takimi
On On - ‘g
M16x1,5-L=342.5mm 6384600205
6384600055
MB-12601 MB-11605 (-
Rotbasi Rotil
On On Alt
M16x1,5Rht D=@22mm
6384600048 6383300027
MB-16608 MB-16609
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6383300110 6383300010 73
MB-16608N MB-14659
Rotilsiz Salincak Z-Rot
OnSagAt  On Sag ' &
6383300110 Ch.No0:>657540 L=250mm
6383230368
MB-14660 MB-14661
Z-Rot Z-Rot
?":—__:1‘: On Sol Arka
) Ch.No:>657540 L=250mm OnlyMod:Van L=105mm
6383230268 6383260016
MB-14662 MB-14663
Z-Rot Z-Rot
Arka On Sag
- Only:Van L=105mm Ch.No0:657541 L=230mm
6383260116 6383230568
— MB-14664 MB-20384
Z-Rot Salincak Burcu
T_—q On Sol On Altig
Ch.No:657541 L=230mm 6383330014
6383230468

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

74

info@parsrot.com



Rot sy

= Land MERCEDES
VITO W638 1997-2003
|
MB-20385
P Salincak Burcu
Arka
6383330814
W639 2003-2014
MB-14687 MB-14686
Z-Rot Z-Rot
On Sol On Sag
L=280mm L=280mm
6393200289 6393200389
MB-14670 MB-14487
Z-Rot Z-Rot
Arka On Sol
Ch:->3603471 A=145MM 6393200789
6393260616
MB-14486 MB-16669N
Z-Rot Rotilsiz Salincak
On Sag On Sol Alt
6393200889 6393300410
MB-16668N MB-16669
Rotilsiz Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6393300510 6393300410
|
MB-16668 MB-16649
Rotilli Salincak Rotilli Salincak
On Sag Alt On Sol Alt
6393300510 6393301401
|
MB-16648 MB-11665
Rotilli Salincak Rotil
On Sag Alt On
6393301501 6393330227

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot sy

= Land
VITO W639
MB-12682 MB-12681
@ Rotbasi Rotbasi
@- 4 On Sol On Sag
M16X1,5Rht M16X1,5Rht
6394600048 6394600348
|
MB-13683 MB-20933
Rot Mili Salincak Burcu
ey - On Sol
M16x1,5Rht-L=290mm 6393301401
6394600255
MB-20934 MB-20844
Salincak Burcu Salincak Burcu
On Sag Altig Sag
6393301201 6393301501
MB-14666 MB-14667
Z-Rot Z-Rot
On Sag On Sol
4X44-Matic A=285mm 4X44-Matic A=285mm
6393201089 6393200989
MB-20614
Salincak Burcu
Onic
6393300410

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

MERCEDES
2003-2014

n

parsrot.com

76

info@parsrot.com






